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BRI 44, 544][ 108, 921] 53, 446] 55,475|  110[ 105 =10 78 gsl[  115] 500 385 o[ 150] 150
Hih—TH 669[ 1,463 705 758 -3 -9 0 0 0 -5 0 5 —4 2 6
S =T H 533 1,338 671 667 —4 -2 2 3 1 -3 1 4 -1 0 1
FL=TH 451f1 1,050 512 538 3 4 0 0 0 2 2 0 2 2 0
HLAED 1,653 3,851 1,888 1,963 —4 —7 2 3 1 -6 3 9 -3 4 7
gon—-TH 4751 1,051 488 563 3 1 -2 0 2 2 5 3 1 4 3
Mo n _TH 738 1,902 925 977 -5 -7 -1 1 2 -9 1 10 3 6 3
Sk a =1 H 499[ 1,240 613 627 3 3 0 0 0 4 8 4 -1 6 7
g w1 H 376 947 463 484 —4 -7 -2 0 2 -2 4 6 -3 0 3
Skt ] H 535 1,258 613 645 -2 -3 -1 0 1 -1 0 1 -1 0 1
k851 H 222 517 245 272 2 3 -1 0 1 3 3 0 1 1 0
Skt H 620 1,647 819 828 7 10 0 1 1 10 10 0 0 0 0
s\ T H 381 903 452 451 0 -3 -1 1 2 2 5 3 —4 0 4
| AN 585( 1,468 729 739 -1 -2 2 2 0 -5 1 6 1 2 1
e AE 4,431| 10,933| 5,347 5,586 3 -5 -6 5 11 4 37 33 -3 19 22
w1 H 318 832 422 410 2 6 3 3 0 2 10 8 1 1 0
ek s _ T H 902 2,070 1,033 1,037 -1| =10 0 1 1 -7 3 10 -3 1 4
Hek w1 H 650 1,516 734 782 —4 2 -2 0 2 4 10 6 0 1 1
Wk REE 1,870[ 4,418] 2,189 2, 229 -3 -2 1 4 3 -1 23 24 -2 3 5
Mk A 1T H 561/ 1,289 635 654 2 1 0 1 1 2 5 3 -1 1 2
Mk a_ 1T H 344 847 447 400 4 8 0 1 1 1 4 3 7 7 0
Mk A =1H 242 548 278 270 1 0 0 0 0 0 2 2 0 0 0
Mk AT H 5031 1,262 642 620 3 4 1 2 1 6 7 1 -3 0 3
[5F Ve 1,650( 3,946] 2,002 1,944 10 13 1 4 3 9 18 9 3 8 5
SELagUl 330 973 426 547 -3 -5 -1 0 1 -7 1 8 3 3 0
HOEEI— T H 153 393 189 204 -1 -1 0 0 0 -1 1 2 0 0 0
HEEI T H 415 1,002 489 513 1 1 0 0 0 -1 3 4 2 2 0
HOEEI T H 642 1,648 802 846 2 0 -3 0 3 3 6 3 0 0 0
HOEESOPN T B 689 1,725 848 877 4 3 1 1 0 3 5 2 -1 0 1
HOEE D ] H 384 949 469 480 0 -2 -1 0 1 -1 3 4 0 0 0
HOEEI N T B 392 976 483 493 0 1 -2 2 4 3 3 0 0 0 0
HE LT H 613 1,464 704 760 -2 -3 -1 2 3 -3 1 4 1 1 0
WO DA EL 3,288 8,157| 3,984| 4,173 4 -1 —6 5 11 3 22 19 2 3 1
[EpEESE) 1,439 3,097] 1,453 1,644 4 —4 2 2 0 0 12 12 -6 1 7
FHIAR 325 731 367 364 0 0 0 1 1 0 0 0 0 0 0
EEP R — T 456( 1,025 502 523 6 18 -1 0 1 8 9 1 11 14 3
B HR T 211 478 247 231 -3 -3 1 1 0 -2 0 2 -2 0 2
BRI R =T 474 1,173 587 586 -2 —4 0 0 0 -3 4 7 -1 0 1
EIP Y T H 533l 1,171 574 597 -1 1 0 2 2 2 4 2 -1 4 5
EEF T H 203 542 267 275 0 -2 -1 0 1 -1 0 1 0 0 0
EESA P AEF | 1,877 4,389 2, 177| 2,212 0 10 -1 3 4 4 17 13 7 18 11
EEF AR — T F 637 1,375 653 722 8 15 0 0 0 5 6 1 10 12 2
EEFAIT T F 614f 1,346 634 712 ~4 -7 0 1 1 0 8 8 -7 0 7
SEEPARHTAEE | 1,251 2,721] 1,287 1,434 4 8 0 1 1 5 14 9 3 12 9
HR 303 891 483 408 0 -1 -2 0 2 1 4 0 1 1
AR T H 632 1,565 787 778 -1 -3 -3 1 4 1 1 -1 1 2
HWPR_—TH 1,490( 3,719 1,843 1,876 4 15 1 4 3 8 21 13 6 1
WHIR=TH 813l 2,253 1,114 1,139 0 -1 -2 0 2 2 3 -1 1
HHRIUTH 446 1,109 529 580 6 13 -1 0 1 5 1 9 10 1
HHIRAE! 3,381 8,646 4,273 4,373 9 24 -5 5 10 16 34 18 13 18 5
JeHR—T H 587|[ 1,455 720 735 3 -5 1 1 0 -3 8 -3 3 6
EHFR_-TH 7851 2,080] 1,029 1,051 -2 -5 5 6 1 -1 3 -9 2 11
JLHR=TH 412 957 504 453 2 7 1 1 0 6 2 0 0 0
LR EEr 1,784/ 4,492 2,253 2 239 3 -3 7 8 1 2 15 13 -12 5 17
YRR 320 841 400 441 4 8 0 0 0 6 7 1 2 2 0
W& 1,499 4,910 2,269 2, 641 2 -2 2 5 3 1 15 14 -5 0 5
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MAlE T H 703 , 899 967 932 1 -2 -1 1 2 -3 4 7 2 4 2
mMAlE -1 H 578| 1,473 730 743 -1 -2 0 1 1 -1 3 -1 1 2
FAIEMN T H 865[ 2,244 1,108| 1,136 -3 —7 -3 1 4 -3 7 10 -1 5 6
ERIEENNE 5551 1,381 682 699 -1 -1 1 3 2 ~4 1 5 2 2 0
A& /ST H 407 1,062 510 552 -1 -2 0 0 0 —4 0 2 5 3
M EER 3,835 9,902 4,918| 4,984 -2 -7 -3 6 9 -9 26 35 5 18 13
F 5 508 1,181 578 603 -3 -7 -1 1 2 -2 1 —4 0 4
g —TH 316 677 334 343 0 1 -1 1 2 -1 2 3 3 0
hds T H 574|[ 1,348 656 692 -1 0 -2 1 3 2 0 0 0
B2t 890] 2,025 990( 1,035 -1 1 -3 2 5 1 3 3 0
=1 e 290 655 342 313 61 68 1 1 0 63 119 56 4 8 4
2 _ T H 600 1,315 655 660 0 -1 -1 1 2 1 4 3 -1 0 1
=N 378 990 498 492 -1 —4 2 2 0 -5 3 8 -1 0 1
EaEn 1,268 2,960 1,495 1,465 60 63 2 4 2 59 126 67 2 8 6
HE -1 H 387 1,059 512 547 0 1 1 1 0 1 3 2 -1 0 1
WlE T H 424 1,123 552 571 1 2 2 2 0 1 2 1 -1 1 2
HwoE —TH 738| 1,932 962 970 2 2 0 1 1 4 8 4 -2 0 2
HHEMN T H 447|1 1,068 515 553 0 —4 0 0 0 ~4 0 4 0 0 0
HWYE T H 743 1,721 850 871 2 3 -1 0 1 4 7 3 0 0 0
HWHE ST H 209 472 238 234 -1 -5 -1 0 1 0 1 1 ~4 0 4
KA ECE 2,948\ 7,375| 3,629 3,746 4 -1 1 4 3 6 21 15 -8 1 9
<HBEL—TH 612 1,478 716 762 2 6 0 0 0 3 6 3 3 3 0
<HXIL—TH 688[| 1,596 787 809 4 4 0 2 2 7 11 4 -3 0 3
<HEL=TH 4971 1,184 597 587 -1 —6 -1 0 1 -6 0 6 1 1 0
BN T H 475 1,082 534 548 3 -1 -2 0 2 0 4 4 1 2 1
SHELH T H 388 831 472 359 1 2 0 0 0 2 3 1 0 0 0
BXLEE 2,660[ 6,171 3,106| 3,065 9 5 -3 2 5 6 24 18 2 6 4
WIEAR— T H 750 1,710 843 867 1 —6 0 2 2 ~4 -2 0 2
HIEART T H 42711 1,119 560 559 1 0 -1 0 1 1 0 0 0
W EARITEEL 1,177 2,829| 1,403| 1,426 2 —6 -1 2 3 -3 10 -2 0 2
LHE 420 850 411 439 3 5 1 1 0 4 2 0 0 0
k-1 H 903(| 1,514 683 831 2 8 2 2 0 8 17 9 -2 5 7
ok Aw_ T H 354 619 293 326 1 3 1 1 0 -1 2 3 3 3 0
ok w1 H 592 1,624 756 868 0 6 2 2 0 3 6 3 1 1 0
ek AT H 313 693 330 363 —4 -5 -1 0 1 —4 7 11 0 4 4
ok B AR 2,162  4,450] 2,062| 2,388 -1 12 4 5 1 6 32 26 2 13 11
FRIREET 22 62 33 29 0 0 0 0 0 0 0 0 0 0 0
a5 7371 1,868 893 975 6 4 -1 0 1 4 10 6 1 1 0
e e 245 641 305 336 -2 -3 -2 0 2 -2 1 3 1 1 0
e — T H 364 994 516 478 0 1 1 2 1 0 0 0 0 0 0
e ] T H 301 735 373 362 -2 —4 0 0 0 -1 0 1 -3 0 3
AR =N 665 1,729 889 840 -2 -3 1 2 1 -1 0 1 -3 0 3
VT H 628| 1,405 709 696 5 5 0 1 1 6 9 3 -1 1 2
VEfEEEE] T H 485\ 1,245 594 651 0 1 0 1 1 0 2 2 1 1 0
VaE AR 1,113 2,650] 1,303 1,347 5 6 0 2 2 6 11 5 0 2 2
P A T 270 662 330 332 -1 3 1 1 0 3 5 2 -1 0 1
IR 223 570 303 267 0 0 0 0 0 0 0 0 0 0 0




